ool Y

cpeccir yp wher)
o
0O <t L
3(,(;u,)(v'75 cloian “\j\‘@'
A < A

i

SpLl Sy Wi

Yo B VA

1 Q‘?Un i} % LN
\ D=t < 1 }
= Slowti o, o L
!: : ALt & =

. , | ] , / @WC Ci'z v u‘/ wolhgn

o)
-
2z <t £ H

2
]




FR3CH

N
lC
S -10[230 sit) - 80t - 46t°

Gl What (s dhe max height P smax - 0 )
Sty = SCt - 16¢°
o> SEY = 80 - 34t

Shoax when S (k)= &

= B0 - 32t = O

@ t = £.5
o> Smax = S(SY = 8CLS) - 46 (4 )a;

= 400 Tt

I:D/ When s= 96 £+ @ Fined T
S(+) = 3%
Gy §Ct - 4647 - 3¢

S

& On it L ey LLP F + - A o
ey Tz S'y= £0-32.2 = 46 ft/s

+ Cn 1t w oy dewn - t=3
ST g5y 80 - 32

J
Y
g
>
it

3. 5




X

\J= Yo

: >
g 25, (e

= (R )

— %\'\ ;’5 <\k}6 e -—_

UOH) =5

&
K~ Un€8)

U\{g}/&l%ﬁ‘) -

Ny = Y Q"o’)?'3

S8 - TY . o35
~ >

LY%e G j;f%ig%%
Gl Qs -2 - LV3T<&“>:”5%9\7RQ
—6 X
L)r)—’ro 53

/
{

-5\

-~

= 0042433



ﬁg‘@nae %adc@iéﬁ

IR \/—-—56190(/---—-Z/lf(-y-)1 o<t £Yo

find The rate at which wateris o@ra:‘nh«g
Lrom w tant after

) Bmin B lomin  <J20min &) Yomin

-t:'O\ﬁ

Pma in U= 50%(/ - %O>L:- A 000

| f? 5”7/\}7 7
U:5m(ef.o_,;§) = Ao (TEE) = 32808

, ‘t: Iom'\n

v= 5000 (ﬁ@ﬁéﬂ :5550( 56L5) = 2920

t"”zom}n _ >
(= oo’z s@(-25) > 12570

1= Yomin
v= 600 (o) = Sm (o) = O

| Average rate Olﬁchaﬁgém

+= OuntO = Enan t=0min tO  t= {Owin o
- a = ﬂ@ — 3828125 _ —-234.275, a = 5@-— @) :-am 8@ -
o - 5 L@Ol!onsw\m O bo A

t=omn 10 t={Dumin

a= 07— 23128 J waler flowing faster is
Godlank /

P

| O -10 45 rurutes
f‘:éwfc t—'?zOMW\

a- bow-we _[@gpsl Aewest is 4o minufes |
AL




e C-A-M.
sechon 3.1
H724
n= £(+) =__ A )= 0.7 abe—o'7+2
lrbe o " (ltbe ° )
+ < O
p = Z0cels (6] = q - 20
R = vZ cells/im. (+b
ac 7
b= 7 €£/(0) = .Tab _ 12
bq'—t-Zb*l
o = ZOTZOB
0.77(20 + 20bLJ)b =
(2o ?+ 24b+12 =
l4b + 4b° =
1 2b°+ 24b 12
2 3
2" -\Db -1 " =D
L -5k -k =0
25 + 4. =49 =7
_b__::l ‘-'-'—l bzf—(o
CLl: O b|= -1 D—
A, 140 b,® b




26 2
26 5

w”',,,,szo

® Eﬂ?ﬂ —= ()A[/C - 7 3 @\,\(\(Jr Qe%
OE o&“mt%ct’% Atxe
0=-3%.07160723% BET6 A\,@QC}Q |
oz OZWBEZERIY Oy OgrU\(,\\”\Cy”L
(= -2 %amo%b Y \\ | 4 _ 0% miluen
= GERNZ A0S x5 syear
= - U12244%6. 3
| Q> = Q% ZL\C\%\M

R A UAkE b i«‘ZLRL v




ptjlf% as{quj TS e PR —

13 P =0.0) cm R . _,
A leggib,_‘- Yoo ) - o

J p .C;.Q\. 1lmw_dhﬂ O_l_ng S P = 2000 ﬂ s T o0 3 S—
uqx, |

T aegem(eeles)

L (0 02193 |

el S JENGROUSURUNDENES

wwwww T AN o e I N\ /o W Y e
o>

V(o) = O 69 Lo S

LG) C V(r) = N0 o

Do 0lF)3

e e BBt S o S e

\L_( o ) o N

) V' (0 005). .;._,_:ﬂ}:ﬁ,_’é,,cmjmg,_,,_,,_u e e
_ \/I (o1 ) = - 125 . 125  C®T R

€y 'ﬂé v Ocrfj A gc’c’qf&ﬁ wfwe L0




/ 37 .20 e Mool

\

s

PO T0L e+ S
# \J N »
A~ YD ; -
oy L-0.2¢ + 0. OVDY?
E{A\:«“ N YN
u}CJ LKZ_XJ\) \/2 2\L> [\ ~ { {\L;XZ
- /

\/, N QO v (0
L0 %2

N
o \,Q {\‘

0L O = a0 - 00 - W)
- \ s?\}* TN — O = -
ToANLN O A N N S

/ f\. N GV g\i' “ / = ;5:3" :‘é i \"‘f pe

c‘f—. N - G ; .

% erd

%ﬁf ZU‘J{,\ UOUOL Y + 4 MOLA
N f g S - Zi ¥ . "
w&ﬁw ) - u 27 ' /\;Q L\@:LJ + QO




é Lot Adbils

® %A bS

)O CQ; 33?%&-@0‘*)1 *:0. OOG‘fK
/ﬁ =15 - )&y + ,0008x”
LL\OOS = 26" Ag(1oey <. 00O800 )

\5
(‘Sw C.( 5 26* %{}6\)*”.0008(\{0&}1
=44
iﬁ&mo) © (o) =02

g




MATI5 0, 3/2/10

ARY 220 Teamt O “Woneran Ceny
f\/\;KZ () ,V;élnuu “asy
\— o Srevnn (et 2
L) PO = total vaive produetion {awd o X ciarkers]  fonciion,
i avg, pm&%ﬁ\(‘;%’% Pooalo = ESQ
poq N
i GUghend r&}‘v‘i'&
ay ox)y = P o ody -4 LPeO) < \:’; x5 pood - $10) PO
B} %, ax

A% ()“g—“)%:“

'}_ﬂg‘“(x%P(x o
w2 o

i

Flo'oy»o) a'td

: -~ , }

Luen &00)>0 ¢ :

;L e average prduivity, Increase; 65 1l WOrkeS ade, adddd,
%o |

G 0w «‘mgf;rlﬁ‘ (x> Q] S [p" (xY) > O;(Xﬂ

QO =EPE 0O = Xp! - w6 o= o o
| e Yxece o xgop - gk

k) (e aco )
=/xe'-a)

Lk [qu> (;\\}g)] & [’6\()’(\) 70] Faen [P O = O‘OO]
e ke > 0O




50V
| adnee
il gen <
"\me@
(3% \
3. /4=0 n {OOCQE(S
o) - (0er
9o} = (00 M)
Lo 40 calls
P) = 06"
- )

1C0 QK :i;? C
oo

loo

e = HE
(o0
= {n 4%
oo
K= |-H35
Q) Pt = 00 ¢! 3ot
b))
pE) = fOD&i 435°
& = 3ho
0(5) = 1002’ 35(5)
7 205
- 1002

P(s)
d?) ()= 1006

{opeo - &@a'f’é%ﬁ
loe teer
00 = 6{,;{;96‘5
6‘”’656%,@00
fﬂf - {n (00
T A

+ = 350 hrs



Le
gl Ot mp
TL43

‘So.
Ja
NogremiorT

ab s {5&»

Pf —E
. Fs CIZ Py

- - S /C’/"g ﬁz S J‘;;"

g fwﬁggé;’; =
e .S (5 Gyt
L leSestr 4o

2 3 1 ;,; N C/“'{ : t 3 z i




N
5 o(2)- 03n(3)"
h ne 106~ 235
= 21.5% O%lx =\0- bbbt 2';\0 i
+, secs
\O»\.@(o(sj e e

\\\ .
e,\ocﬁ\{ = 5.0 ™ /S

6) 10 Lbe(euy =u.i7 /
. ™M /<

252 D+ - ]2LE
£=2,54

# USED SoLyee







755\ .
\C{@ ﬁ/‘ éfbé’//

e
— ==

Sk g v S*©
oo "\rf/\p: pECh

35 A Ta foom B°

P= d0-\o = \O% Y & W N TR von reek
ar20-52 8 Lo gy v PG ad T Rean
e 2 S IRY Y I==
T= &5 ~~
= - ot
A') s hrﬁ“"\f c@*\w SO o a“; O!\\P\“ﬂ
V-2 |
@= a0-sv= & Plg in 5o mia e TGS
Ra- o you- e e & —.0lbX) M.
T= 50 ~is W e T b Y
V= bbb Sdheadr  our P frem Mo
oo - bbb = V. s \\?/afwrémm R aﬁj‘e")‘i

| wWher oW Xy 2 ST
8y V= a-vta S
’Q= }Q»§'7 s °

Q= - o len

v Fm B LT m -



